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150. You are given: 
 
(i) Losses are uniformly distributed on � �0,�  with �  > 150. 
 
(ii) The policy limit is 150. 
 
(iii) A sample of payments is: 
 
    14,  33,  72,  94,  120,  135,  150,  150 
 
 
Estimate �  by matching the average sample payment to the expected payment per loss. 
 
 
(A) 192 
 
(B) 196 
 
(C) 200 
 
(D) 204 
 
(E) 208 
 
 

151. You are given: 
 
(i) A portfolio of independent risks is divided into two classes. 

 
(ii) Each class contains the same number of risks. 

 
(iii) For each risk in Class 1, the number of claims per year follows a Poisson distribution 

with mean 5. 
 

(iv) For each risk in Class 2, the number of claims per year follows a binomial distribution 
with 8�m  and 55.0�q . 
 

(v) A randomly selected risk has three claims in Year 1, r  claims in Year 2 and four 
claims in Year 3. 

 
The Bühlmann credibility estimate for the number of claims in Year 4 for this risk is 4.6019. 
 
 
Determine r . 
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(A) 1 

 
(B) 2 

 
(C) 3 

 
(D) 4 

 
(E) 5 

152. You are given: 
 
(i) A sample of losses is: 

 
600 700 900 

 
(ii) No information is available about losses of 500 or less. 
 
(iii) Losses are assumed to follow an exponential distribution with mean � . 
 
 
Determine the maximum likelihood estimate of � . 
 
 
(A)   233 
 
(B)   400 
 
(C)   500 
 
(D)   733 
 
(E) 1233 
 


